

## **Summary of Bids Received**

2025 Concrete Patching Project: Section:

CPMS Pin: Let Date:

B-01592

25-00000-10-GM

March 11, 2025

Description:

| Evenuer Blacktop, IIIe.    | 1110101211041020         | Engineer's Estimate: | \$590,673.02 | 01.1070       | Ψ200,001.00   |
|----------------------------|--------------------------|----------------------|--------------|---------------|---------------|
| Everlast Blacktop, Inc.    | 7N540 IL Route 25        | Elgin, IL, 60120     | \$794.311.00 | 34.48%        | \$203,637.98  |
| Alliance Contractors, Inc. | 1166 Lake Avenue         | Woodstock, IL, 60098 | \$572,405.06 | -3.09%        | -\$18,267.96  |
| Schroeder & Schroeder Inc. | 7306 Central Park Avenue | Skokie, IL, 60076    | \$465,700.00 | -21.16%       | -\$124,973.02 |
| Bidder                     | Address                  | City, State, Zip     | Bid Price    | Eng. Estimate | Eng. Estimate |
|                            |                          |                      |              | % Over/Under  | \$ Over/Under |



## **Return Bid Tabulation**

**Project:** 2025 Concrete Patching **Section:** 25-00000-10-GM

Description:

**CPMS Pin:** B-01592 **Let Date:** March 11, 2025

| Item No. | Pay Code  | Description   | Quantity | Unit  | Eng Uni    | t Price      | Schroeder & S           | chroeder Inc                        | Alliance Cont | tractors. Inc | Everlast Bla            | ckton. Inc   |
|----------|-----------|---|----------|-------|------------|--------------|-------------------------|-------------------------------------|---------------|---------------|-------------------------|--------------|
| 10       | . ay code | Socialition   | Quality  | Jilli | Unit Price | Extnd. Price | Unit Price Extnd. Price |                                     | •             |               | Unit Price Extnd. Price |              |
| 1        | 20101100  | TREE TRUNK PROTECTION   | 4.0      | EACH  | \$150.00   | \$600.00     | \$100.00                | \$400.00                            | \$250.00      | \$1,000.00    | \$300.00                | \$1,200.00   |
| 2        | 20101200  | TREE ROOT PRUNING   | 2.0      | EACH  | \$200.00   | \$400.00     | \$150.00                | \$300.00                            | \$500.00      | \$1,000.00    | \$240.00                | \$480.00     |
| 3        | 20200100  | EARTH EXCAVATION  | 33.0     | CU YD | \$50.00    | \$1,650.00   | \$90.00                 | \$2,970.00                          | \$250.00      | \$8,250.00    | \$140.00                | \$4,620.00   |
| 4        | 25200200  | SUPPLEMENTAL WATERING   | 1.0      | UNIT  | \$200.00   | \$200.00     | \$150.00                | \$150.00                            | \$1,000.00    | \$1,000.00    | \$1.00                  | \$1.00       |
| 5        | 28000250  | TEMPORARY EROSION CONTROL SEEDING   | 4.0      | POUND | \$15.00    | \$60.00      | \$20.00                 | \$80.00                             | \$100.00      | \$400.00      | \$1.00                  | \$4.00       |
| 6        | 28000510  | INLET FILTERS   | 3.0      | EACH  | \$300.00   | \$900.00     | \$200.00                | \$600.00                            | \$250.00      | \$750.00      | \$1.00                  | \$3.00       |
| 7        | 28001100  | TEMPORARY EROSION CONTROL BLANKET   | 135.0    | SQ YD | \$3.00     | \$405.00     | \$5.00                  | \$675.00                            | \$2.00        | \$270.00      | \$6.00                  | \$810.00     |
| 8        | 35101600  | AGGREGATE BASE COURSE, TYPE B 4"  | 346.0    | SQ YD | \$10.00    | \$3,460.00   | \$4.00                  | \$1,384.00                          | \$7.50        | \$2,595.00    | \$7.00                  | \$2,422.00   |
| 9        | 35101800  | AGGREGATE BASE COURSE, TYPE B 6"  | 37.0     | SQ YD | \$15.00    | \$555.00     | \$6.00                  | \$222.00                            | \$11.00       | \$407.00      | \$11.00                 | \$407.00     |
| 10       | 40201000  | AGGREGATE FOR TEMPORARY ACCESS  | 1.0      | TON   | \$25.00    | \$25.00      | \$30.00                 | \$30.00                             | \$100.00      | \$100.00      | \$40.00                 | \$40.00      |
| 11       | 40800050  | INCIDENTAL HOT-MIX ASPHALT SURFACING  | 1.0      | TON   | \$100.00   | \$100.00     | \$2,200.00              | \$2,200.00                          | \$1,000.00    | \$1,000.00    | \$600.00                | \$600.00     |
| 12       | 42001300  | PROTECTIVE COAT   | 431.0    | SQ YD | \$1.50     | \$646.50     | \$0.10                  | \$43.10                             | \$0.01        | \$4.31        | \$4.00                  | \$1,724.00   |
| 40       | 40200400  | PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 8 INCH                                | 27.0     | CO VD | ¢400.00    | ¢2.700.00    | ¢100.00                 | ć7 020 00                           | ¢125.00       | ¢4.625.00     | ć180.00                 | ¢c cco oo    |
| 13       | 42300400  | •   | 37.0     | SQ YD | \$100.00   | \$3,700.00   | \$190.00                | \$7,030.00                          | \$125.00      | \$4,625.00    | \$180.00                | \$6,660.00   |
| 14       | 42400200  | PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH PORTLAND CEMENT CONCRETE SIDEWALK 6 INCH | 2,499.0  | SQ FT | \$12.00    | \$29,988.00  | \$25.00                 | \$62,475.00                         | \$11.50       | \$28,738.50   | \$19.75                 | \$49,355.25  |
| 15       | 42400300  |   | 238.0    | SQ FT | \$15.00    | \$3,570.00   | \$25.00                 | \$5,950.00                          | \$12.50       | \$2,975.00    | \$23.00                 | \$5,474.00   |
| 16       | 42400800  | DETECTABLE WARNINGS DRIVEWAY PAVEMENT REMOVAL                                     | 84.0     | SQ FT | \$60.00    | \$5,040.00   | \$45.00                 | \$3,780.00                          | \$60.00       | \$5,040.00    | \$81.00                 | \$6,804.00   |
| 17       | 44000200  |   | 63.0     | SQ YD | \$30.00    | \$1,890.00   | \$20.00                 | \$1,260.00                          | \$50.00       | \$3,150.00    | \$18.00                 | \$1,134.00   |
| 18       | 44000300  | CURB REMOVAL  COMBINATION CURB AND GUTTER REMOVAL                                 | 27.0     | FOOT  | \$10.00    | \$270.00     | \$15.00                 | \$405.00                            | \$100.00      | \$2,700.00    | \$11.00                 | \$297.00     |
| 19       | 44000500  |   | 376.0    | FOOT  | \$15.00    | \$5,640.00   | \$15.00                 | \$5,640.00                          | \$100.00      | \$37,600.00   | \$11.00                 | \$4,136.00   |
| 20       | 44000600  | SIDEWALK REMOVAL PAVED SHOULDER REMOVAL   | 73.0     | SQ FT | \$4.00     | \$292.00     | \$10.00                 | \$730.00                            | \$5.00        | \$365.00      | \$3.00                  | \$219.00     |
| 21       | 44004250  | CLASS B PATCHES, TYPE I, 10 INCH  | 121.0    | SQ YD | \$20.00    | \$2,420.00   | \$25.00                 | \$3,025.00                          | \$50.00       | \$6,050.00    | \$26.00                 | \$3,146.00   |
| 22       | 44200966  |   | 10.7     | SQ YD | \$500.00   | \$5,350.00   | \$280.00                | \$2,996.00                          | \$485.00      | \$5,189.50    | \$890.00                | \$9,523.00   |
| 23       | 44200970  | CLASS B PATCHES, TYPE II, 10 INCH CLASS B PATCHES, TYPE III, 10 INCH              | 590.3    | SQ YD | \$500.00   | \$295,150.00 | \$280.00                | \$165,284.00                        | \$485.00      | \$286,295.50  | \$710.00                | \$419,113.00 |
| 24       | 44200974  | CATCH BASINS TO BE ADJUSTED   | 163.6    | SQ YD | \$500.00   | \$81,800.00  | \$280.00                | \$45,808.00                         | \$485.00      | \$79,346.00   | \$710.00                | \$116,156.00 |
| 25       | 60250200  | MANHOLES TO BE ADJUSTED   | 1.0      | EACH  | \$700.00   | \$700.00     | \$1,000.00              | \$1,000.00                          | \$500.00      | \$500.00      | \$600.00                | \$600.00     |
| 26       | 60255500  | COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12                                 | 4.0      | EACH  | \$1,500.00 | \$6,000.00   | \$1,000.00              | \$4,000.00                          | \$500.00      | \$2,000.00    | \$600.00                | \$2,400.00   |
| 27       | 60603900  | (ABUTTING EXISTING PAVEMENT)  | 245.0    | FOOT  | \$150.00   | \$36,750.00  | \$75.00                 | \$18,375.00                         | \$92.00       | \$22,540.00   | \$44.00                 | \$10,780.00  |
| 2.       | 0000000   | COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24                                 | 210.0    | 1001  | ψ100.00    | φου, ι συ.συ | ψ73.00                  | Ψ10,373.00                          | <b>432.00</b> | Ÿ22,3 10.00   | ŷ i i.oo                | Ψ10,700.00   |
| 28       | 60605100  | (ABUTTING EXISTING PAVEMENT)  | 132.0    | FOOT  | \$150.00   | \$19,800.00  | \$90.00                 | \$11,880.00                         | \$100.00      | \$13,200.00   | \$88.00                 | \$11,616.00  |
| 29       | 66900530  | SOIL DISPOSAL ANALYSIS  | 1.0      | EACH  | \$1,500.00 | \$1,500.00   | \$3,000.00              | \$3,000.00                          | \$2,000.00    | \$2,000.00    | \$5,000.00              | \$5,000.00   |
|          |           | TEMPORARY PAVEMENT MARKING LETTERS AND SYMBOLS -                                  |          |       |            |              |                         |                                     |               |               |                         |              |
| 30       | 70303100  | MODIFIED URETHANE   | 132.0    | SQ FT | \$5.00     | \$660.00     | \$40.00                 | \$5,280.00                          | \$7.00        | \$924.00      | \$20.00                 | \$2,640.00   |
| 24       | 70303120  | TEMPORARY PAVEMENT MARKING - LINE 4" - MODIFIED URETHANE                          | 278.0    | FOOT  | ¢5.00      | ¢4 200 00    | ¢r.00                   | ¢1 200 00                           | ¢F 00         | ¢1 200 00     | ¢11.00                  | ¢2.0E9.00    |
| 31       | 70303120  | TEMPORARY FAVEMENT MARRING - LINE 4 - MODII IED ORETTIANE                         | 270.0    | FUUT  | \$5.00     | \$1,390.00   | \$5.00                  | \$1,390.00                          | \$5.00        | \$1,390.00    | \$11.00                 | \$3,058.00   |
| 32       | 70303125  | TEMPORARY PAVEMENT MARKING - LINE 5" - MODIFIED URETHANE                          | 180.0    | FOOT  | \$5.00     | \$900.00     | \$8.00                  | \$1,440.00                          | \$6.00        | \$1,080.00    | \$12.00                 | \$2,160.00   |
|          |           |   |          |       | 73.33      | ,            | 75.55                   | <i>+</i> = <i>,</i> · · · · · · · · | , , , ,       | <b>+</b> =/   | 7-2-35                  | 7-,          |
| 33       | 70303130  | TEMPORARY PAVEMENT MARKING - LINE 6" - MODIFIED URETHANE                          | 161.0    | FOOT  | \$5.00     | \$805.00     | \$10.00                 | \$1,610.00                          | \$7.00        | \$1,127.00    | \$14.00                 | \$2,254.00   |
|          |           | TEMPORARY PAVEMENT MARKING - LINE 24"- MODIFIED                                   |          |       |            |              |                         |                                     |               |               |                         |              |
| 34       | 70303210  | URETHANE  | 54.0     | FOOT  | \$5.00     | \$270.00     | \$40.00                 | \$2,160.00                          | \$7.00        | \$378.00      | \$20.00                 | \$1,080.00   |
| 35       | 72400205  | REMOVE AND RELOCATE SIGN PANEL ASSEMBLY - TYPE A                                  | 3.0      | EACH  | \$300.00   | \$900.00     | \$400.00                | \$1,200.00                          | \$350.00      | \$1,050.00    | \$400.00                | \$1,200.00   |
| 36       | 78000300  | THERMOPLASTIC PAVEMENT MARKING - LINE 5"  | 319.0    | FOOT  | \$2.00     | \$638.00     | \$20.00                 | \$6,380.00                          | \$8.75        | \$2,791.25    | \$6.00                  | \$1,914.00   |
| 37       | 78000600  | THERMOPLASTIC PAVEMENT MARKING - LINE 12"   | 30.0     | FOOT  | \$5.00     | \$150.00     | \$40.00                 | \$1,200.00                          | \$11.00       | \$330.00      | \$12.00                 | \$360.00     |
| 38       | 78000650  | THERMOPLASTIC PAVEMENT MARKING - LINE 24"   | 15.0     | FOOT  | \$10.00    | \$150.00     | \$80.00                 | \$1,200.00                          | \$19.00       | \$285.00      | \$14.00                 | \$210.00     |
| 39       | 78300202  | PAVEMENT MARKING REMOVAL - WATER BLASTING   | 168.0    | SQ FT | \$5.00     | \$840.00     | \$25.00                 | \$4,200.00                          | \$21.00       | \$3,528.00    | \$14.00                 | \$2,352.00   |

| Item No. | Pay Code | Description                               | Quantity | Unit  | Eng Uni     | Eng Unit Price Schroeder & Schroeder Inc. |             | . Alliance Contractors, Inc. |             | Everlast Blacktop, Inc. |             |              |
|----------|----------|---|----------|-------|-------------|---|-------------|------------------------------|-------------|-------------------------|-------------|--------------|
|          |          |   |          |       | Unit Price  | Extnd. Price                              | Unit Price  | Extnd. Price                 | Unit Price  | Extnd. Price            | Unit Price  | Extnd. Price |
| 40       | 89502376 | REBUILD EXISTING HANDHOLE                 | 1.0      | EACH  | \$2,000.00  | \$2,000.00                                | \$4,875.00  | \$4,875.00                   | \$4,065.00  | \$4,065.00              | \$11,000.00 | \$11,000.00  |
| 41       | X7010216 | TRAFFIC CONTROL AND PROTECTION, (SPECIAL) | 1.0      | L SUM | \$53,768.52 | \$53,768.52                               | \$67,901.70 | \$67,901.70                  | \$24,000.00 | \$24,000.00             | \$85,104.75 | \$85,104.75  |
| 42       | X8860105 | DETECTOR LOOP REPLACEMENT                 | 386.0    | FOOT  | \$50.00     | \$19,300.00                               | \$39.20     | \$15,131.20                  | \$31.00     | \$11,966.00             | \$39.00     | \$15,054.00  |
| 43       | XX006343 | SEEDING (COMPLETE)                        | 4.0      | SQ YD | \$10.00     | \$40.00                                   | \$10.00     | \$40.00                      | \$100.00    | \$400.00                | \$300.00    | \$1,200.00   |
|          |          |   |          |       |             |   |             |                              |             |                         |             |              |
|          |          |   |          |       | Total       | \$590,673.02                              |             | \$465,700.00                 |             | \$572,405.06            |             | \$794,311.00 |



## **Return Bid Details**

Project: 2025 Concrete Patching Section: 25-00000-10-GM

**CPMS Pin:** B-01592 **Let Date:** March 11, 2025

Description:

| Item No. | Pay Code | Description   | Quantity | Unit  | Eng Unit                  | Price        | Min. Bid Price     | Max. Bid Price             | Avg. Bid Price     |
|----------|----------|---|----------|-------|---------------------------|--------------|--------------------|----------------------------|--------------------|
|          |          |   |          |       | Unit Price                | Extnd. Price |                    |                            |                    |
| 1        | 20101100 | TREE TRUNK PROTECTION   | 4.0      | EACH  | \$150.00                  | \$600.00     | \$100.00           | \$300.00                   | \$216.67           |
| 2        | 20101200 | TREE ROOT PRUNING   | 2.0      | EACH  | \$200.00                  | \$400.00     | \$150.00           | \$500.00                   | \$296.67           |
| 3        | 20200100 | EARTH EXCAVATION  | 33.0     | CU YD | \$50.00                   | \$1,650.00   | \$90.00            | \$250.00                   | \$160.00           |
| 4        | 25200200 | SUPPLEMENTAL WATERING   | 1.0      | UNIT  | \$200.00                  | \$200.00     | \$1.00             | \$1,000.00                 | \$383.67           |
| 5        | 28000250 | TEMPORARY EROSION CONTROL SEEDING   | 4.0      | POUND | \$15.00                   | \$60.00      | \$1.00             | \$100.00                   | \$40.33            |
| 6        | 28000510 | INLET FILTERS   | 3.0      | EACH  | \$300.00                  | \$900.00     | \$1.00             | \$250.00                   | \$150.33           |
| 7        | 28001100 | TEMPORARY EROSION CONTROL BLANKET   | 135.0    | SQ YD | \$3.00                    | \$405.00     | \$2.00             | \$6.00                     | \$4.33             |
| 8        | 35101600 | AGGREGATE BASE COURSE, TYPE B 4"  | 346.0    | SQ YD | \$10.00                   | \$3,460.00   | \$4.00             | \$7.50                     | \$6.17             |
| 9        | 35101800 | AGGREGATE BASE COURSE, TYPE B 6"  | 37.0     | SQ YD | \$15.00                   | \$555.00     | \$6.00             | \$11.00                    | \$9.33             |
| 10       | 40201000 | AGGREGATE FOR TEMPORARY ACCESS  | 1.0      | TON   | \$25.00                   | \$25.00      | \$30.00            | \$100.00                   | \$56.67            |
| 11       | 40800050 | INCIDENTAL HOT-MIX ASPHALT SURFACING  | 1.0      | TON   | \$100.00                  | \$100.00     | \$600.00           | \$2,200.00                 | \$1,266.67         |
| 12       | 42001300 | PROTECTIVE COAT   | 431.0    | SQ YD | \$1.50                    | \$646.50     | \$0.01             | \$4.00                     | \$1.37             |
| 13       | 42300400 | PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 8 INCH                                  | 37.0     | SQ YD | \$100.00                  | \$3,700.00   | \$125.00           | \$190.00                   | \$165.00           |
| 14       | 42400200 | PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH  | 2499.0   | SQ FT | \$12.00                   | \$29,988.00  | \$11.50            | \$25.00                    | \$18.75            |
| 15       | 42400300 | PORTLAND CEMENT CONCRETE SIDEWALK 6 INCH  | 238.0    | SQ FT | \$15.00                   | \$3,570.00   | \$12.50            | \$25.00                    | \$20.17            |
| 16       | 42400800 | DETECTABLE WARNINGS   | 84.0     | SQ FT | \$60.00                   | \$5,040.00   | \$45.00            | \$81.00                    | \$62.00            |
| 17       | 44000200 | DRIVEWAY PAVEMENT REMOVAL   | 63.0     | SQ YD | \$30.00                   | \$1,890.00   | \$18.00            | \$50.00                    | \$29.33            |
| 18       | 44000300 | CURB REMOVAL  | 27.0     | FOOT  | \$10.00                   | \$270.00     | \$11.00            | \$100.00                   | \$42.00            |
| 19       | 44000500 | COMBINATION CURB AND GUTTER REMOVAL   | 376.0    | FOOT  | \$15.00                   | \$5,640.00   | \$11.00            | \$100.00                   | \$42.00            |
| 20       | 44000600 | SIDEWALK REMOVAL  | 73.0     | SQ FT | \$4.00                    | \$292.00     | \$3.00             | \$10.00                    | \$6.00             |
| 21       | 44004250 | PAVED SHOULDER REMOVAL  | 121.0    | SQ YD | \$20.00                   | \$2,420.00   | \$25.00            | \$50.00                    | \$33.67            |
| 22       | 44200966 | CLASS B PATCHES, TYPE I, 10 INCH  | 10.7     | SQ YD | \$500.00                  | \$5,350.00   | \$280.00           | \$890.00                   | \$551.67           |
| 23       | 44200970 | CLASS B PATCHES, TYPE II, 10 INCH   | 590.3    | SQ YD | \$500.00                  | \$295,150.00 | \$280.00           | \$710.00                   | \$491.67           |
| 24       | 44200974 | CLASS B PATCHES, TYPE III, 10 INCH  | 163.6    | SQ YD | \$500.00                  | \$81,800.00  | \$280.00           | \$710.00                   | \$491.67           |
| 25       | 60250200 | CATCH BASINS TO BE ADJUSTED   | 1.0      | EACH  | \$700.00                  | \$700.00     | \$500.00           | \$1,000.00                 | \$700.00           |
| 26       | 60255500 | MANHOLES TO BE ADJUSTED   | 4.0      | EACH  | \$1,500.00                | \$6,000.00   | \$500.00           | \$1,000.00                 | \$700.00           |
|          |          | COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12                                   |          |       |                           |              |                    |                            |                    |
| 27       | 60603900 | (ABUTTING EXISTING PAVEMENT)  | 245.0    | FOOT  | \$150.00                  | \$36,750.00  | \$44.00            | \$92.00                    | \$70.33            |
|          |          | COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24                                   | 400.0    | 5007  | 4450.00                   | ***          | ***                | ****                       | ***                |
| 28       | 60605100 | (ABUTTING EXISTING PAVEMENT)  | 132.0    | FOOT  | \$150.00                  | \$19,800.00  | \$88.00            | \$100.00                   | \$92.67            |
| 29       | 66900530 | SOIL DISPOSAL ANALYSIS TEMPORARY PAVEMENT MARKING LETTERS AND SYMBOLS -             | 1.0      | EACH  | \$1,500.00                | \$1,500.00   | \$2,000.00         | \$5,000.00                 | \$3,333.33         |
| 30       | 70303100 | MODIFIED URETHANE   | 132.0    | SQ FT | \$5.00                    | \$660.00     | \$7.00             | \$40.00                    | \$22.33            |
| 30       | 70303100 | MODII IED ONE ITIVATE   | 102.0    | OQTI  | ψ3.00                     | ψ000.00      | Ψ1.00              | Ψ+0.00                     | ΨΖΖ.33             |
| 31       | 70303120 | TEMPORARY PAVEMENT MARKING - LINE 4" - MODIFIED URETHANE                            | 278.0    | FOOT  | \$5.00                    | \$1,390.00   | \$5.00             | \$11.00                    | \$7.00             |
|          |          |   |          |       |                           |              |                    |                            |                    |
| 32       | 70303125 | TEMPORARY PAVEMENT MARKING - LINE 5" - MODIFIED URETHANE                            | 180.0    | FOOT  | \$5.00                    | \$900.00     | \$6.00             | \$12.00                    | \$8.67             |
|          |          | TEMPORARY RAVENERAL MARKET AND                  |          |       |                           |              |                    |                            |                    |
| 33       | 70303130 | TEMPORARY PAVEMENT MARKING - LINE 6" - MODIFIED URETHANE                            | 161.0    | FOOT  | \$5.00                    | \$805.00     | \$7.00             | \$14.00                    | \$10.33            |
| 34       | 70303210 | TEMPORARY PAVEMENT MARKING - LINE 24"- MODIFIED URETHANE                            | 54.0     | FOOT  | \$5.00                    | \$270.00     | \$7.00             | \$40.00                    | \$22.33            |
| 35       | 72400205 | REMOVE AND RELOCATE SIGN PANEL ASSEMBLY - TYPE A                                    | 3.0      | EACH  | \$300.00                  | \$900.00     | \$350.00           | \$400.00                   | \$383.33           |
| 36       | 78000300 | THERMOPLASTIC PAVEMENT MARKING - LINE 5"  | 319.0    | FOOT  | \$2.00                    | \$638.00     | \$6.00             | \$20.00                    | \$11.58            |
| 37       | 78000500 | THERMOPLASTIC PAVEMENT MARKING - LINE 12"   | 30.0     | FOOT  | \$5.00                    | \$150.00     | \$11.00            | \$40.00                    | \$21.00            |
| 38       | 78000650 | THERMOPLASTIC PAVEMENT MARKING - LINE 12  THERMOPLASTIC PAVEMENT MARKING - LINE 24" | 15.0     | FOOT  | \$5.00<br>\$10.00         | \$150.00     | \$11.00            | \$40.00                    | \$21.00            |
| 39       | 78300202 | PAVEMENT MARKING REMOVAL - WATER BLASTING   | 168.0    | SQ FT | \$5.00                    | \$150.00     | \$14.00<br>\$14.00 | \$80.00<br>\$25.00         | \$37.67<br>\$20.00 |
| 39<br>40 | 89502376 | REBUILD EXISTING HANDHOLE   | 1.0      | EACH  | \$2,000.00                | \$2,000.00   | \$4,065.00         | \$11,000.00                | \$6,646.67         |
|          | X7010216 | TRAFFIC CONTROL AND PROTECTION, (SPECIAL)   | 1.0      | L SUM | \$2,000.00<br>\$53,768.52 |              |                    | \$11,000.00<br>\$85,104.75 |                    |
| 41       |          | DETECTOR LOOP REPLACEMENT   |          |       |                           | \$53,768.52  | \$24,000.00        |                            | \$59,002.15        |
| 42       | X8860105 | DETECTOR LOOP REPLACEMENT   | 386.0    | FOOT  | \$50.00                   | \$19,300.00  | \$31.00            | \$39.20                    | \$36.40            |

| Item No. | Pay Code | Description        | Quantity | Unit  | Eng Unit   | Eng Unit Price |         | Eng Unit Price |          | Max. Bid Price | Avg. Bid Price |
|----------|----------|--------------------|----------|-------|------------|----------------|---------|----------------|----------|----------------|----------------|
|          |          |                    |          |       | Unit Price | Extnd. Price   |         |                |          |                |                |
| 43       | XX006343 | SEEDING (COMPLETE) | 4.0      | SQ YD | \$10.00    | \$40.00        | \$10.00 | \$300.00       | \$136.67 |                |                |
|          |          |                    |          |       |            |                |         |                |          |                |                |
|          |          |                    |          |       | Total      | \$590,673.02   |         |                |          |                |                |